
- Parts list -

Image ID: drawing_B50600000021

Item Part number Designation/additional information Qty

10 A 211 270 05 27



OIL LINE

Upper

 Code: M113/M273+-M005/(M271/M647)+423/M648/M628/M272+917/M156+M63/M642+M013+

(423/427)+-M005;

1

30 A 211 270 00 27



OIL LINE

Lower

 Code: (M113/M156+M63/M647/M648/M273/M271/M272+M012/M272+917/M642)+(423/427);

1

35 A 028 997 62 48 O-RING

OIL LINE TO RADIATOR

 Code: 423/427/917/M273/M156+M63/M629;

NB

40 A 000 995 20 32 CLAMP

OIL LINE TO OIL LINE

 Code: M113/(M271/M646+M010/M647/M648)+423/M273/M642+(423/427)/M156+M63;

1

50 A 012 988 04 78 CLAMP

Oil line mount

 Code: M113/M273/(M271/M647)+423/M648/M272+M012+(423/427);

2

Vehicle WDBUH83J96X202363 (64V) E 500 4MATIC

Color 197 - obsidianschwarz metallic Equipment 831 - Leder anthrazit

FIN: WDB2112831X202363 Assortment class PC

Group 50 RADIATOR Sub-group 600 TRANSMISSION COOLING

© Copyright 2022

Mercedes-Benz A
G

Parts Information

© Copyright 2022 Mercedes-Benz AG



Item Part number Designation/additional information Qty

65 A 211 270 15 96 LINE

Transmission to oil cooler, left

 Code: M005+M113+423;

1

75 A 001 990 14 88 BANJO UNION

Repair solution

 Code: M005;

1

80 A 094 990 19 11 FITTING

Torque converter housing

 Code: M005;

1

85 A 211 270 16 96 LINE

Transmission to oil cooler, right

 Code: M005+M113+423;

1

92 A 001 990 14 88 BANJO UNION

Repair solution

 Code: M005;

1

94 A 094 990 19 11 FITTING

Torque converter housing

 Code: M005;

1

100 N 000000 004748 BANJO BOLT

Oil line to torque converter housing

 Code: (M112/M271/M272+M005/M642+M005)+423/M113+(M005/M001)/M273;

2

105 A 000 017 12 60 SEALING RING

Oil line to torque converter housing; 14X18

 Code: (M112/M271)+423/M113+(M005/M001/M50);

Replaced by: A 000 271 11 60

4

105 A 000 271 11 60 SEALING RING

Oil line to torque converter housing; 14X18

 Code: (M112/M271)+423/M113+(M005/M001/M50);

Replaces: A 000 017 12 60

4

110 A 000 995 20 32



CLAMP

Left oil line to right oil line

 Code: M113+-M001;

2

115 N 000000 001114 HEXALOBULAR BOLT

Clamp; M6X15

 Code: M112+423/M113/M113+M001;

2

115 N 000000 001114 HEXALOBULAR BOLT

Clamp to holder; M6X15

 Code: M112+423/M113/M113+M001;

1

115 N 000000 001114 HEXALOBULAR BOLT

Left and right oil line to oil pan; M6X15

 Code: M112+423/M113/M113+M001;

2

115 N 000000 001114 HEXALOBULAR BOLT

Left oil line to oil pan; M6X15

 Code: M005;

3

115 N 000000 001114 HEXALOBULAR BOLT

Right oil line to oil pan; M6X15

 Code: M005;

2

120 N 000000 001045 CLAMP

Left oil line to oil pan; 10/15

 Code: M005/M005+M273;

3

Parts Information

© Copyright 2022 Mercedes-Benz AG



Item Part number Designation/additional information Qty

120 N 000000 001045 CLAMP

Right oil line to oil pan; 10/15

 Code: M005/M005+M273;

2

200 A 026 997 24 82 HOSE

Connecting point to oil cooler

 [402] NO LONGER AVAILABLE

 Code: M005+M113+423;

1

210 A 000 180 00 82 HOSE

Connecting point to oil cooler

 Code: M005+M113+423;

1

Parts Information

© Copyright 2022 Mercedes-Benz AG


